[HOJIAPHBIE YPABHEHMA HEKOTOPBIX KPUBbBIX

YpaBHEHUS KPUBBIX Bug xpuson
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OxpyxHoctr (a>0):

1) r=a (puc.l)

2) r=2acosep (puc.?2)
r=-2acose (puc.3)

3) r=2asing (puc.4)
r=-2asing (puc.5)

Jlemuuckara bepnyinu:
1) r? =a? -C0S2¢ (puc. 6)
2) r?2 =a%-sin2¢p (puc.7)

Kapnuonga (a>0):

1) r=a(l+cosp) (puc. )
r=a(l—-cose) (puc.9)

2) r=a(l+sing) (puc. 10)
r=a(l-sing) (puc.11)




Po3sr (a>0):

1) r=a-cos2¢ (puc. 12)
r=a-sin2¢ (puc.13)

2) r=a-|cos2¢p| (puc.14)
r= a-\sin 2(0‘ (puc. 15)

3) r=a-cos3p (puc. 16)
r=a-sin3p (puc.17)

r= a-cosS(%j (puc. 18)
r= a-sin{%) (puc. 19)
(a>0)
r=a- 0054(%) (puc. 20)
r= a.sin4(£j (puc. 20)
4 puc. 20
(a>0) puc. 20 Y(@pazmenn)
yA
Criupamu (a>0): )
1) ciupanp Apxumena: /
r=a-¢ (puc.2l) X
2) runepOonryueckasi Cnupalb: X
puc. 21 E puc.22

r=2 (puc. 22)
¢




